
Defy If R is a ring with unity and a ER has a

multiplicative inverse at
,
we say a is a unit in R.
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4 is not a unit :

Deth In R
,
if a # o

,
and if there exists b such that

ab -- c
, we say a divides c

,
denoted at c.

[ just like in 12 .
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4- I = 4 4.4 = 4

4.2 = 2 4.5 = 2

(avoid writing : b -- Sa . )
[ doesn't have meaning

in many rings .
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Note : if ax-- c has a solution

,

OTOH
, 4ft . it is often not unique .
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So :

WARNING : unlike groups , in general in a ring ,
ab -- ac#
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4. 5=2
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In 126 4.2=4.5 but 245 .


